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Botany: Organisms & Populations, Ecosystem, Biodiversity & conservation
Zoology: Human physiology
Chemistry: Aldehydes Ketones & Carboxylic Acids, Amines
Physics: Ray Optics & Optical Instruments, Wave Optics
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Given above is diagrammatic representation of

organismic response to abiotic factors. Identify

the correct statements regarding the organisms

belonging to A, B and C and choose the option

accordingly.

(@) ‘A’ is applicable for birds and mammals

(b) ‘B’ is true for organisms whose body
temperature changes with the ambient
temperature

(c) “C’ is for those organisms which neither show
osmoregulation nor thermoregulation.

1) Onlyaand b

2) Only b and ¢

3)Onlyaandc

4)Alla,bandc

State true (T) or false (F) for the following

statements and select the correct option.

A) Small animals have large surface area relative
to volume.

B) Siberian crane undergoes hibernation during
winter for survival.

C) Plants are conformers as they can maintain
their homeostasis.

1) A-T, B-F, C-F

2) A-F, B-F, C-F

3) A-F, B-T, C-F

4) A-F, B-T, C-T
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Bio@sv CaTHHSULILL 6n6) o _uflgmm

HMJemN BEThbHT 2 ulfledr L6 euenFLL L]

olendsld @b. A, B oppid C m& CsFibhs

o uflfleommissll OHTLTuUTeN FFWTen FnBBIHen6Nd

seniLBbHI CHIHOBBESMLD.

(@) upENEIEET WOBEID UTETL 1I9&HEHHE A’
QUITHHHID

(b) SHBOBIILD GaulLBleneouj 61 2 160
Geuliumlemsv  oTEID 2 _ulflenmiseEnsE ‘B’
2 6GUI60LD

(c) ‘C’ a16t1IEI F6haY,BLTAIGL Si6L6VH! Gl ILIBEN6V
Fremoly ST LTS 2 ulliflenmisernhabomeng.

1)Onlyaandb

2) Onlybandc

3)Onlyaandc

4)Alla,band c

—>internal level

02. VesauHId FnBEIBEHEE true (T) aisveva false (F)

o160l dnsl Fflwimesiendd CHiIH0SHBHB)LD.

A) i ellevmiEH®6iT BeTITCauTH Ui HLoCLITSI
QuIflw uFiUeTEnaIS ClHT6uT(HeTT6IT6.

B) s ffwer  OQs1eaE  Gelisnengdeo
o WITeUTDOISHBEHTH &H6MTHTED 2_BoHHHHMBE
o I LUHSmaI.

C) STOUIHRIBET  DIUBISl6TT  FLOHBENEVEMLL
ugTofl& @D Hmpei CeTemTLsnel.

1) A-T, B-F, C-F

2) A-F, B-F, C-F

3) A-F, B-T, C-F

4) A-F, B-T, C-T
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Identify the wrong match

1) Clown fish and sea - Commensalism anemone

2) Paramecium caudatum and Paramecium
aurelia- Competition

3) Tiger and deer - Predation

4) Barnacle growing on back of whale -
Amensalism

The biotic components of the habitat of an
organism includes all, except
(a) pathogen,

(b) light,

(c) temperature

(d) parasite,

(e) predator,

() rain fall

(g) competitor,

(h) water

1) (), (), (f). (h)

2) (a), (d), (&), (9)

3) (@), (b). (c), (d)

4) (e), (), (9), (h)

J-shaped (exponential) growth curve is
represented by

y2 ()
dN _

2) ﬁ =N -

5 =MNET)

4) 2= KN

Which of the following organisms first colonise
a bare rock?

1) Phytoplanktons

2) Shrubs

3) Lichens

4) Herbs

Rate of formation of new organic matter by
consumers is called

1) biomass

2) GPP

3) secondary productivity

4) succession

Individual transitional communities in an area
are called

1) seres

2) seral stages

3) ecosystems

4) biomes
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SHEUBTEN CLIT(HSHHHMNSH DIGHL_LITEITLD SHIT60I6YLD

1) Gamomeri 1631 LOBEBID HL 6D - GFTHEH! QUMD

2) umgmSAwid SILM LD wBEd  urymsduid
21,8redwim- GuTLi1guiBHHev

3) 16l WBEID 6 - Geul_ ML WITBH6D

4) AbmBeSHH6 (IpHIEBe0 euemhd FiNsen -
SIOLDEHTFTEVFID

@m o ulflbdlen eurpall Halenr 2 _uilifluisd
FnBIH6IT Rk SHedly DI GHEMSHUILD
o _GiTeNL HaWIGI,

(@) Grmulss mL,
(b) e,

(¢) QauiLmensv
(d) oL Gewren,

(€) Goul_swLwiTBLIsNi,
(F) wemip efipFd
(9) Gum_igwimer,
(h) seviremty

1) (b), (c), (), (h)
2) (a), (d), (e), (9)
3) (), (b), (c), (d)
4) (e), (), (9). (h)

J- augen (1HCoums) euerniF euenerey Gseum
GBI LILGaSBE

1) }—g =mN(=5)

2) » Y =rN

=N

4) <2 =KN

Welteupd o _ufiflemiseaied 61 (WHeUs0 Gleummils
urenmuiled GHCwBISBSI?

1) sreuy gemeu 2 _ulflaeit

2) ugiysei

3) M6V B EIHET

4) e1peenes eIt

BISTCeuMy cpsotd yFHw  SHflol QuUmHL eI
® (HAUMGLD al&HD BeIauTs HIENPSHSLILBGS B
1) o uifleremL
2) GPP
3) @yesii b Hevev o_BLIGHHHpe
4) e penm euertdd

R UGHulsd o eTen el L  EeDLHenev
FPBMIBET S6)NTHI DIHLPSHBLILIBE 6313607
1) reuys OHTLTHemev
2) 8760 BlenevB6I
3) GBBIFSHLDED DIHLDLIL|EEIT
4) uevaeuiTHOHTHH
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NPP is equal to
1) GPP +R
2) GPP -R
3) GPP xR
4) GPP +R

Which is correct order of seral stages in

hydrarch?

1) Phytoplankton — rooted submerged plants —
rooted floating plants — free floating plants
— reed swamp — marsh meadow stage —
scrub stages — forest

2) Scrub stages — forest — reed swamp stage
marsh meadow stage — free floating plants
stage — submerged plants — phytoplankton

3) Submerged plants — marsh meadow stage —
scrub stages — forest — phytoplankton —
submerged — free floating plant stage —
reed swamp stage

4) Phytoplankton — reed swamp stage — scrub
stages — forest — submerged plants —
submerged free floating plants stage —
marsh meadow stage

More than 1000 varieties of mango in India is an
example of

1) Species diversity

2) Genetic diversity

3) Ecological diversity

4) Community diversity

Among the invertebrates, maximum biodiversity
is of

1) Crustaceans

2) Protozoans

3) Molluscs

4) Insects

In rivet popper hypothesis given by Paul Ehrlich,
key species are represented by

1) Rivets

2) Rivets on the wings

3) Entire airplane

4) Wings of the airplane

Choose the wrongly matched option.

1) Nile perch - Alien species in lake Victoria

2) Passenger Pigeon - Became extinct due to
habitat fragmentation

3) Dodo - Over-exploitation

4) Parthenium - Alien species in India
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NPP @sm@ &b
1) GPP + R
2) GPP-R
3) GPP xR
4) GPP +R

mamL JTeh&Hle0 FJev Bemevderler Fiflwimer auflens

o1g1?

1) oo’ GLmlenmmmisL et —  Gouemedmsiua  Bifled
& HraugmiseT — Geouehasiul 1SHEHEG WD
SHTUIHIGBET —  SHIONFOFUTE  LOHDHGLD
FHTAUIHIBET —  [BTWID FHILIL| — FHIL]
LeLGleuari Blemev — ST Hlemevdeit — &

2) USIT Hene0s6i — &TH —> [HIanied FHILIL| 15660
g Levleued Hemev — HeiteNFenFUITS
HHGSD HTOUTRISET Hlenev — Hifled eLpLpadlul
STUTEIS6T — ewLL CLmilenmmigL 6ot

3) Biflev eppdlul HrauymIB6T — FHIIL LeoCeuel
Blemev — USHT [Hewevdel — &T1H —
Ul GLmflenmmibl 61 —  Bifled el —
SADNFMFWTS WOHEHGSWD HTeuy Henwev —>
BT6wT60 &FSHILIL| [Hlen6e0

4) epul GLmI6MMBISL 651 — BTewied FHILIL| [Hlenev
— YST HlemevdeT — &M1H — Bifled epbasiul
STAUTRISET — HifleL DS U FHeiTelFenF T
WHHSGSID HTOUTHIGET Hewev —  FHIOL
LevOleuer Blemev

@pglwimaied o eten 1000&@w GuBLL L ombLLp
AUMBHETHHG 6(H 2 FHMJ6uTLD

1) ABpSlenIB6IT LIGSI(Lpe S SH68TenLD

2) L Iuled LIGT(LPSHSHSHEBTEnLD

3) &P em6VUTNUIE) LIGHT(LPE &S 68TenLD

4) gelpsb LIPS SHSHETENLD

WpHI0BaIDLIe0TE o ulflamseaied, DIHsLLF
LT SHesTenLo ClBTewTL Gl

1) U GLleiser

2) UGy GLnBFmeumesieseit

3) QUDT6LEVEIOBGIT

4) ygdsein

LImeV 61T6VI& eulpmIgul FlQeul” LMLy &m&HIGsTer60,
(PSHFW BemiselT @ eanTed GNILLIL LLGE et
1) senLwiremniseir

2) OBEHmBH6iM60 HemL WiTemllH6lT

3) (g efoTesTid

4) aoTedish et BB enHH6IT

SHaUBTEL QUTHHHWmSHS CaiTe| GFuiweLb.

1) ewped GuIF - alsBLmflwr egflufled o eiten
S\6iTarfl EeTD

2) uwienilaem LBT - aumDell 1D HIeWI[H HIWILTH
SIPHSHI CuTengl

3) BLBLT - SIFHBLILIGUITET FHT6NTL 60

4) urjsFeiwd - BhHwmaled 2 eiTem Sjeieii
B RIS
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Choose the odd one for ex-situ conservation
strategy.

1) Seed bank

2) Botanical garden

3) Wildlife safari park

4) National park

Match the hormone with its source

a. somatostatin |i. Pineal gland
b. Melatonin ii. Corpus luteum
c. Aldosterone |iii. Placenta
d. Progesterone |iv. Adrenal cortex
e. HCG V. Islets of
Langerhans
I. Adenohypophysis

1) a-v, b-i, c-vi, d-iii, e-ii
2) a-i, b-ii, c-iv, d-iii, e-v
3) a-ii, b-vi, c-iv, d-v, e-iii
4) a-v, b-i, c-iv, d-ii, e-iii

Which type of white blood cells are concerned
with release of histamine and the natural
anticoagulant heparin

1) Basophil

2) Eosinophil

3) Monocyte

4) Neutrophil

In ECG which one is responsible for
repolarisation of ventricle:
1) P-wave
2) Q-wave
3) QRS-complex
4) T-wave

Total lung capacity can be represented as
1) V.C. +R.V.
2)RV.+ERV.+TV.+IRV.

3) T.V. +ER.V.

4) Both 1 and 2

By the contraction of which one, the volume of
the thoracic chamber increase in the dorso-
ventral axis:

1) Contraction of diaphragm

2) Contraction of lungs

3) Contraction of sternum

4) Contraction of external inter-costal muscle

Every 100 ml of deoxygenated blood delivers
approximately how much of CO; to the alveoli:
1) 20 ml

2) 10 ml

3) 40 ml

4) 4 mi
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15. Qeuefleumfl. urEHIBTIY 2 S$HHE& CLTHHSTH
RaInBH CHIHOBBHSMLD.
1) alens aumid
2) STeuyaluield LmIsbT
3) cuatallevmhi@, &. .Ul LyBIsBT
4) Gxpdlwl LBIsT

16. ammyGLOTena DISHET CLPVSHSBIL 631 QUIT([HHH6LD

a) GamonGLmerdLmgesr |1) 1efluted i

b) QoG mesflesr ) &myuerd e0ujlguid

C) o1e0BLmerdIGymest  |111) O meGsmg

d) yGymelegerr 19ByasT |1V) S FarTed BTFOIL derd

e) HCG V) eUMTHISTaBTaTeN S HH6i

Vi) 91198ammenanGLimenLisnierd

1) a-v, b-i, c-vi, d-iii, e-ii
2) a-i, b-ii, c-iv, d-iii, e-v
3) a-ii, b-vi, c-iv, d-v, e-iii
4) a-v, b-i, c-iv, d-ii, e-iii

17. by euenswimen Oeusenel BIHSH DiemIdhH6i
anleLenLoe LOBBILD BUBmd BJHH 2 _MBe)
agdyiy  Gamurfler  Geuefuiiged  DibHMB
O meuT(H6IT6IT 60T
1) GuBgm.".L960
2) rdlGeunmLied
3) GomGevmenat
4) Bluy Gymiied

18. ECGufed, Oeueit flsdeflesr  1lewiGd  1Oesr
WPTLILNWLISS B Hlenevd@ELI GUITBILILITEIS
1) P-giemev
2) Q-siemev
3) QRS-gal LemioriL
4) T-s1emev

19. Qurss HIewTuired Hmener Beileurml GMILILIL oD
1) V.C.+R.V.
2)RV.+ERV.+TV.+ILRV.
3)T.V.+ER.V.
4) Both 1 and 2

20. 61b& Q66N S(THd B STV, LOTTL| HIGNBUTNGT Di6TT6]
WSIGIDB uWIBBIILE SIFF P ST oHD B
1) 2_srelsrarshder g(hobasld
2) mlenyuiyel Gx(HbHID
3) WmMFEILIGVIDL] Si(HE LD
4) Qaueiafevr eTayibLlent HeFUNGT Fi(HbBHID

21. g@euQaurcy 100 ml o dHenieGemBmiii L
ArHHd  Cxrgmwions  eeleuena] CO2 =
STHBBILIMLISE, QULDHIGS MBS
1) 20 ml
2) 10 ml
3) 40 ml
4) 4 ml
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Identify A, B, C and D in diagram of cross
section of muscles & choose correct option:

1) A-Blood capillary, C-Sarcolemma
2) B—Fascicle, C-Sarcolemma
3) C-Blood capillary, D—Sarcolemma
4) A—Fascicle, B-Muscle fibre

23. ATPase enzyme, essential for muscle contraction

24,

25.

26.

27,

is found in:

1) Actin

2) Myosin

3) Troponin

4) Both 1 and 2

Wild contractions in muscles due to
hypocalcemic condition is called as:

1) Arthritis

2) Tetany

3) Osteoporosis

4) Gout

NaCl from ascending Henle’s loop is exchanged
with

1) ascending limb of vasa recta

2) descending limb of vasa recta

3) afferent arteriole

4) descending limb of Henle’s loop

The ionic gradients across the resting membrane
are maintained by the active transport of ions by
the sodium-potassium pump which transports

1) 3 Na* outwards for 1K™ into the cell.

2) 3 Na* outwards for 3K™ into the cell.

3) 3 Na* outwards for 2K into the cell.

4) 2 Na* outwards for 2K™ into the cell.

Statement . Gastrin acts on the gastric glands

and stimulates the secretion of hydrochloric acid

and pepsinogen.

Statement 1I: Secretin acts on the exocrine

pancrease and stimulates secretion of water and

bicarbonate. Choose the correct answer from the

options given below

1) Both Statement | and Statement Il are
incorrect

2) Statement | is correct but Statement Il is
incorrect

3) Statement | is incorrect but Statement Il is
correct

4) Both, Statement | and Statement 11 are correct
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SHMF M6l GBIHEG0eUL B eumILLSHFHev A, B, C
o D mé saipfhas  Fflurarensd
CoIbOBEHBMLD

—

o

=

1) A58 Fpais, C—ai8asTGevibion
2) B—smgss1 (B, C—ai@smbsoibiom
3) C168 shas, D—5iGsrGsuibion
4) A-sangsisl (B, B-smammilanip

ATPase OBTs, HmFF &H(HBBHHBE
Slaudlwioreng G560 sreriLbBaBg
1) susige
2) 1@uirdlest

3) L GyrBumesiest
4) 1 oBpid 2 ByewiBo

STOFWID GHMB HleNeL STTENIOTS HN H6IT60
IMUBLD S (HBHBMIS6T DeleUTnl DIeNSSLILIBGS B
1) epl” (Beued
2) Qi Lmedf
3) oo GuITGLITGyTdlerd
4) Qi

CameiGeoulen euenenSh e Gosnip  SmLbLeD
Bwba NaCl ggaiar ufiorpiLGEna)
1) auram Qs Teler Goenml HITIDL]
2) aung QraLmaler SINBRIG SITbL
3) 2 1" QF6v HIwIHID6
4) QameiTelle aUe6ITLISH 6T SIOMEIE SITIDL

QUIOUBSHGLD F6lla (PIPEUSID Djule SFTUIGYBH6NT
Gamouib-Gum’Lrflud o pHod  Swelseer
CFwed HL-SGI cWevld LITLOfSSLILBGSBSI, D
1) Qesvadi@en 1K™ &@ 3 Na* Geuslirimiome.
2) Qeevadi@ e 3K s@ 3 Na* Geusliiimiome.
3) QFevadi@ e 2K &@ 3 Na* Geusliiimiome.
4) QFevell@ e 2K* & 2 Na™ Qeuafiimpione.

Fgpm |1 stedlflar @iy agliiseflsd
CFweoLhdBH  wBpId  emaml CrmEHGenmifld
oIflevld  BmId  CUIFCaTeieT  &ILenUS
B BEBS).
apm 1l: OF&0mg96T HTT(Lp6TeN  &HememTghS 60
CFweoLIGABH WLBBID B BHID eUSTTLGCHIL
&TUUMSHS HTeTBHBHBEHI. SCL OBTBSHSLILIL [HeiTern
allmULmIseMedl(hba Fifluimeot LgHlemevd
CIHESBHB6MD
1) spu | Boid spu 11 ByesiBo Seuprearene
2) aamiml | sflwumeng) opeimed gammi | Heummeng
3) aamml | HeumTeng) syemmed gapmi | Ffluimens
4) amu | wpmibd apel | @yesihio Fflumetene

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

28.

29.

30.

31.

www.Padasalai.Net

Somatostatin release from the hypothalamus
inhibits the release of
1) Thyroxin hormone from the thyroid
2) Calcitonin hormone from the thyroid
3) Growth hormone from the pituitary
4) LH from the pituitary

In males, LH stimulates the synthesis and
secretion of
1) Androgens from testis
2) Progesteron from ovary
3) Oestrogen from ovary
4) Ovulation from ovary

Which of the following endocrine gland is not
paired:

1) Gonads

2) Pituitary

3) Adrenal (suprarenal)

4) All

IUPAC name of the following structure is
'

CH3—CH _C _CH2 _CHQ'OH

1) 1 -hydroxy-4-methyl-3-pentanone

2) 2-methyl-5-hydroxy-3-pentanone

3) 4-methyl-3-oxo-1-pentanol

4) Hexan-1-ol-3-one

32. Which of the compounds with molecular formula

33.

CsHyo yields acetone on ozonolysis?
1) 2-Methyl-1-butene

2) 2-Methyl-2-butene

3) 3-Methyl-1-butene

4) Cyclopentane

Name of the below reaction is
CHO
CO, HCI "
anhy. AICl;/CuCl ~

1) Friedel-Craft’s acylation
2) Gatterman-Koch reaction
3) Kolbe’s reaction

4) Rosenmund’s reduction
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amamBurgTeooenIel(hibgk  GFmoTGL merdL Mg et
Ceuerilui® Bpmand 5BHHBSI
1) aymuiged B(mba! mSHITHerdlesr ammyGLomest
2)  oaITUIged  @ObhE  STeodl GLmeller
ammyGLomest
3)  MuLfluled SapbaE  eumD  euenyFd
ammyGLomest
4) MWy L flufed Bmpba LH

Seniseilev, LH @ser Qam@liy woBmibd sylienLis
ST BS MBS

1) alibao58e0hba oL Gymeaeaise

2) smlienLuledBba! LIGTTOgerdL 19FTest

3) smlienLUled(HHSI Ferol Gymegest

4) smHUpL LU ([Hha! Siewt_allBLIL

Weiteupd  Brenileveom  &pLiliseiled Semewrims
BeveuTHG! 61517
1) urelerr apLISBaT
2) gl L)
3) oI Fesre0 (SLIPTTeTeD)
4) 9ImRNSHHID

Uesteunid L Lewiolifesr IUPAC Quuwiy
CH; O

I I
CH3—CH_C_CH2—CH2‘OH

1) 1-ewamt grdeni-4-Ging gev-3-GILiesi_Geuest
2) 2-Giog&e0-5-mamL” g dend-3-GLies Germest
3) 4-Glng FHev0-3- 585 - 1-GLiesGermed

4) OaméF6iT-1-g60-3-66ir

CsHio  apevdbammr  eumuiun@® — Glememii

Beoeneuderiley 61g @GFTer LGLLY SIFILGLTenen
SleMBBMHI?
1) 2-Gg FHe0-1-1uy L 1o 63T
2) 2-Giog FHe0-2-1TupL Lo 6st
3) 3-Gg FHev-1-1TuyL" e 68t
4) enasGenmOILIGHTGL 63t

&Bp 2 _siter allenestuledr GILILIT
CHO

CO,HCl

anhy. AICly/CuCl

1) .0fe0-dlpm. .’ SienaGeommid
2) &ML jGLa-gnd alenest

3) Garmev.".LI-631 alement

4) GraFeiToamIL. &6MMBLIL|
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Consider the reactions.
CHeCHCH i) BH; /THF PCC
a) CHy- ") H,0,/00- "~ (in CH,Cl,)

i) Hg (0Ac), PCC
n) NaBH,, OH~ © (in CH,CI,) (D)
Products (B) and (D) are
1) Functional isomers
2) Positional isomers
3) Chain isomers
4) Metamers

(B)

b) CH;-CH=CH,

Which of the following is used to preserve
biological specimens?

1) Methanal

2) Methanol

3) Ethanal

4) Acetone

Assertion (A): The carboxylic carbon is less

electrophilic than carbonyl carbon.

Reason (R): The carboxylic group has possible

resonance structures.

1) Both (A) and (R) are correct and (R) is correct
explanation of (A)

2) Both (A) and (R) are correct but (R) is not
correct explanation of (A)

3) (A) is correct but (R) is incorrect

4) (A) is incorrect but (R) is correct

CH,-CH,-ClH,
KMnO,, KOH (A) H,O" (B)
A L ’

In the above reaction A and B are

& U

7
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lleneIBMm6Nd &,ajaaﬂmréj&,m
i) BH,/THF .

1) H, OZ/OH‘( )(mCH Cl )( )
i) Hg (0OAc), PCC

" .

1) NaBH,, OH~- © (in CH,Cl) ®)

gwnfliyse (B) wigib (D)

1) alleneneFulsd Q&T@E8 mmsluib

2) L wrBsluid

3) mFe) GQHTLT TBslwIb

4) QoL LMo &e6IT

PCC

a}) CH;—CH=CH,

b) CH;—CH=CH,

Wereumeusieupmled o ulfluied  orglfleenentl
LUTHIBToHBL LILGTUH6eUS! 61517
1) Qs semed
2) QD& SHeIT6D
3) 615 H 6160
4) o1 BLresr

amm (A): sMuTesHedd ST SHTTUM6T60

STTLEN6T Ol (&HeNBEUTE 6T6VHLTT6I H6TSHe0T6mLD

OBITEITL Gl

smyenid (R): smjunsdleds @upaled gmdguwiomet

o | alenF6)| SINIDLIL|SH6IT 266160,

1) (A) wsupd (R) @yewiGd Fflwrerens wBH3ID
(R) aflwiren elendsasid (A)

2) (A) wppibd (R) Syemibo gflwmearenel Suemmed
(R) ereriugl (A) @t flwines allendbsid &j6060

3) (A) aflwnerg yemed (R) Heummeg

4) (A) sauprerg guermeo (R) sflwimena

CH,-CH,-CH,
©/ I\Mno4 KOH

BGLoBev 2 _siten afleweuisd A oBmib B

| | &

H,0"
—p

>(A) (B)

Q

2) COOH COOK

3) COOK COOH
Ty

4) COOK CH,
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+

dry ether 30

R-Mg-X + CO; (A) —
In the above reaction (A) is

1) RsCO™Mg*™X

2) RCOO™X*

3) (RCO0)2Mg

4) RCOO Mg*X

RCOOH

IUPAC name of the following compound is
CH>=CH-CH-NH>

1) Propene-3-amine

2) Prop-2-en-1-amine

3) 1-aminoprop-2-ene

4) Propane-1-amine

40. An organic compound A upon reacting with NH3

41.

42.

gives B. On heating, B gives C. C in presence of
KOH reacts with Br to give CH3CH2NHz. A is
1) CH3CH.COOH

2) CH3COOH

3) CH3CH2CH.COOH

4) CH, —CH-COOH

|
CH,

Number of 3° amines of CsHisN are (Only
structural isomers)

14

2)7

3) 12

4)5

Decreasing order of basic strength
NH, NH, NH,

CH,
(1I)

NO,
(D (1IT)
DH>1>|
2) 1> 1> 111
A H>1>1
4H1>1>11

8
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+

dry ether 30

R-Mg-X + CO; (A) —
GoBsv 2_sitem alenenufed (A)

1) RsCO Mg*X

2) RCOO™X*

3) (RCO0):Mg

4) RCOO Mg*X

RCOOH

Hereupd Cxywsdder IUPAC GQuuwiy CH2=CH-
CH2-NH2

1) yyinesr-3-oiemioest

2) Lyr1-2-rreir-1- ©ienLoest

3) 1-oudGeumiyyri-2-Fresr

4) Ly1Buiest-1- ienLoest

@ i Gaiywd A, NH3z o L& alenerflujb
Gurgl B 3 oefsdmal. gL ragwurg B, C m
Ca1hsFBH, KOH (weaieieaneoulsy C eyeng Bro
o | et alemenfiibg CH3CH2NH? &3 oiefsapal.
A ea@iLg)
1) CH3CH.COOH
2) CH3COOH
3) CH3CH.CH.COOH
4) CH, —~CH - COOH

|

CH,

CeHisN @e1 3° oyenioeiiserilesn  6l6mTeutdhend
(L Lemiori omBpflwIkIB6iT 1oL (BLD)
1)4
2) 7
3) 12
4)5
&MY 6U6SlenLoUNenT GMBULD 6uflend

NH, NH, NH,

CH; NO,

(D (IT) (I1T)
DI>1>1
2)1>1>11
3 HI>1>11
4) 1> 11> 111
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Bromine water reacts with aniline gives
1) NH,

Br

2) NH,
i Br

3) NH,

i Br
Br
NH,
Br~ i Br
Br

4)

44. Amines are highly soluble in

45.

46.

1) CCl4

2) Water
3) Benzene
4) Ether

Which of the following molecule can give
Zwitter ion?

1) Sulphanilic acid

2) o-Toluidine

3) Benzene sulphonamide

4) 2,4,6-tribromoaniline

Light travel with velocities 2 x 108 m/s and 2.25
x 10® m/s through two different media. The
critical angle between the two media is

1) sint (1/2)

2) sin't (2/3)

3) sint (3/5)

4) sin™t (8/9)

43.
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yGrmbes B Siefleianil et alleneaLfihgl BFHenend
CETBHBMBSH
1) NH,

Br

O

2)  NH,

O

Br
3)  NH,

i Br
Br
NH,
Br- i Br

SIMLOGITH6T BFH60 DIFHBLD HEMTUISHInIQUIHE
1) CCls
2) ety
3) QuiesiFest
4) w3y
LNeiTeU(BHLD  CLPELEEnIH 61T 60 Gl LT
Sweienuwidh OETBHS (LpIgub?
1) seourefeds oifevld
2) 0-OLTe)Ig6sT
3) Quendeir Fe0BLTETENLOH
4) 2.,4.,6-191LByBiom yefle 6ot

oIl

eefwimergl BB CleuaiGeum 281 EmIG6NT (LP6VLD
2 x 108 m/s w@mib 2.25 x 108 m/s Geuamsai_ai
uwenild QFUISIBH. EFeni(h 261 FHHIHEHHEGLD
BenL_uilevmen (Lpaaslul Gsmemiid

1) sin"t (1/2)

2) sint (2/3)

3) sin™* (3/5)

4) sin! (8/9)
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47. A convex lens of focal length 15 cm and concave

48.

49.

50.

lens of focal length 10 cm, are placed at a
separation of 20 cm, with common principal
axis. Light ray coming parallel to principal axis
is first incident on concave lens then on convex
lens. The distance of final image from concave
lens is

1) 30 cm

2) 50 cm

3) 60 cm

4) 70 cm

A telescope has an objective lens of focal length
60 cm and eye piece of focal length 5 cm, is
focused on a far distant object. The length of the
instrument when final image forms at least
distance of vision is

1) 65 cm

2) 55.83 cm

3) 64.17 cm

4) 60 cm

The image of an extended object, placed
perpendicular to the principal axis of a mirror,
will be erect is
1) The object and image both are real
2) The object and image both are virtual
3) One of the object and image is real and one is

virtual
4) Both (1) and (2)

A point source S is placed midway between two
converging mirrors of equal focal length “f* as
shown in the figure.

= T
= >

The value of ‘d” for which only one image is
formed, may be

1) 2f

2) 4f

3) 3f

4) Both (1) and (2)
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50.

www.Trb Tnpsc.Com

Gl Geveiidlar @Gallw membd 15 CM wB@IDd G
Geveidlenr  @alw pemd 10 cm, OGurgleurest
(PHSEDID  DIFGFL_60T 20 cm Lflalled
MeUSBLILBHMBSH!. (LPSHETNLID DIFFiHE) Ben6oTiTsd
AU gefld BT (1PpHedsd GLleuTer Gleverdlsvild
Ueien] @albhd OGevadlad elupd.  GWeurest
CeoatiFledlbba BBISILI UL HH6d SIILD

1) 30 cm

2) 50 cm

3) 60 cm

4) 70 cm

OaTeneuBHTSHE LimBlensv Gleveterd @eaiul fsermb 60
CM oBEID HewTen(h& Gevasieniest @Gallul Hermb 5
cm  Osrewierengl.  OFHTene0CHTHSUITEIS
OgTemevalled o 6iTem e  OUTHEMET LTToHS
GalsaULGSBS. GUIFL  Ubud  SHNTHmS
o (HeuTdH@L Gurgl smailulles Herb

1) 65 cm

2) 55.83 cm

3) 64.17 cm

4) 60 cm

SHeTenITouilen (PHETMD DIFHDHE CFRIGHHHTH

meUSSILGBL  BLgdbslul L Gummefler LIbub

BT BBUS!

1) QUIT(H6IT LOMBMILD
O GITENLOWITETENE

2) QUITHET WBBID UL 1D BFewiBLD GLouIBSiT

3) OQuime BDBID o (Heukisefled @I
2 eWINLOWITESI LOBBILD 6dImI GLouIBleiy

4) Byemi®id (1) wigid (2)

LILLD

ByemiBLd

UL $FH60 ST L UL (B6TenLIg FLomen Gelul [Herd
‘f CarewiL. QTewih GaluD SHeTERITIHETHHE
BevL_ B (b LieiTerll eLpev S eI

« d >

@8y @ ULID 2_Haur@b eesied 'd' Beit DAL
1) 2f

2) 4f

3) 3f

4) @rewiGo (1) wimid (2)
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A compound microscope has an objective of
focal length 2 cm and an eyepiece of focal length
5 cm. An object has to be placed at a distance of
2.4 cm away from the objective for normal
adjustment. The angular magnification and
length of microscope tube respectively are
1)-25,5cm

2) - 50,12 cm

3)- 25,17 cm

4) - 50,17 cm

A ray of light is incident normally on face AB of
a prism of refractive index 3/2. The largest value
of angle 0 so that ray is totally reflected from face
AC when prism immersed in oil of refractive
index 5/4, is given by

A

oil

A 4

B

\ oil
p=23/2 \
b C
1) sin1(3/5)
2) sin™! (4/5)

3) cos (5/6)
4) cost (3/5)

In order to increase the angular magnification of
a simple microscope, one should increase

1) The object size

2) The aperture of the lens

3) The focal length of the lens

4) The power of the lens

In Young’s double slit experiment

1) only interference occurs

2) only diffraction occurs

3) both interference and diffraction occurs
4) none of the above

Phenomenon of diffraction occurs

1) only in case of light and sound waves

2) for all kinds of waves

3) for electro-magnetic waves and not for matter
waves

4) for light waves but not is case of X-rays

11
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@ Gnl (B HlewTGemTh A WITeng) @Galwl Herd 2 CM
OBBID  HEWIHIENTIg6T Galwl e 5 CM O\BTenT(h
© 6iTeNGI. QM  QUTHEMET  FTHTTEUOTLOTS
FHOFwIusBE ChrdssHelmba 2.4 €M
CxTenevallsd emeudbd GouewiBLD. HiewTGewTTaa &
Gruier Csmewt o (HUOLHGSHSD WOBBID HeTD
pemmGuwl

1)-25,5cm

2) - 50, 12 cm

3) - 25,17 cm

4) - 50,17 cm

gaiulear om a37 eefalevsed 3/2 OsmemiL
wlul LassEHer  (pasb AB @60 GuTgleurs
alpdmal. 54 eaemp @efalevssd @Guluilipes
eTemTOleuTU 60 (LPLILIL L &LD eplp@BuTal, (pasid AC
B0mha I Wwaugwrs HFgucissn 0
Gamemidh e WSLIGUIFlL OFIIL

A

N \ oil
AN
AN

B
1) sin"1(3/5)
2) sin’t (4/5)
3) cos (5/6)
4) cos* (3/5)

oil

Gt
BeoupBeny

QM  eeflw
o (HUOLHESHMS
P B fHH CeuemiBLD
1) Quirgperieir Syere
2) QevasTenilas Glemer
3) Gevesterdlast Gailul [Berrid
4) Glevesteniett Fé)

Thl6wTG 6wt &5 &bl U dl 65T
LYY

wmisler @ enL Lene] LflGamsHemnenuieo

1) 5miss 6 alamena) 1 GG gHRUGHBSI

2) aflefliby] alewenay ol HGL gBLGS MBS

3) GmIHsS (B wBLID eleafiby  almene] BFewi(BLD
IBUGEBS!

4) BGoBev eTHIOID B606M6V

aflelby aflesriey BlsLbe gHLGIS)

1) gaf wBpd @6 Dmevsalar allaguldded
oL (HLb

2) SIMTHEI UENBUITET DIEH6VHETHEHEGHLD

3) OBIBMHS SIMCVBETHHE),
DINEVBHETHHE HI6VEV

4) @ofl DIMVBEDHHGEH 6D X-BHTHEHHE,
91606V

QuIm(mer
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In a Fraunhofer’s diffraction by a slit, if slit width
is ‘a’, wavelength A, focal length of lens is f,
linear width of central maxima is

1)fi/a

2) fal\

3) 2fA/a

4) fA/ 2a

Assertion: Phase change of & occurs when light

beam strikes a interface separating two surface.

Reason: All EM wave suffer phase change of n

when it strikes a interface.

1) If both assertion and reason are true and the
reason is correct explanation of the assertion

2) If both assertion and reason are true but the
reason is not correct explanation of the
assertion

3) If assertion is true, but the reason is false

4) If both assertion and reason are false

A Polaroid is placed at 30° to an incoming
unpolarised light of intensity lo. Now the
intensity of light passing through Polaroid after
polarization would be

1) lo

2)lo/2

3)3lo/4

4) zero

Two slits in Young’s experiment have widths in
the ratio 1 : 25. The ratio of intensity at the
maxima and minima in the interference pattern,
IS Imax / Imin

1)4/9

2)9/4

3) 121 /49

4)49/121

Intensity on screen due to each slit is lo in YDSE.
Find the intensity at a point on screen where path
difference between waves is A / 4.

1) lo

2) 2lo

3) 3lo

4) 4lo
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e ey ewpeuld LignGeor.”.uy elefliby alensmales
66 SiH6VID ‘@ OB DHHBT6L, SIENGVHEIID A,
Qevastendasr @alwr Bemd f, wHHwW SFsul &
Gpifluisd &iEH6LD

1fi/a

2)fal )

3)2fL/a

4) A/ 2a

57. il @eildsmens e GuoBuyienul Lfléb@ELb

58.

59.

60.

OO (WBHMBH STHGID GuTgl T B &L

LOTBEBLD BLGEBSI.

SMIewId:  Slmaidd EM  siemeusenld @b

DL (PBHMBHSH SHTEGWL Cutd T Bar &L

LOTBBEHMS FbH) a5 6513601

1) sBm wBGD smanDd Syen®n &M wHpID
HTJeILD GnmBmlest Fifluimest alemeaid

2) saBmI WHBID STyeND SIOHGL Ff SyeTed,
SMTeRILD Gnmilen Ffluimet allensald $Ie060

3) gnmml Fifl, SLEITED BMTERID HEUBTEIS]

4) Bl BBID STTEID BTeRIBLD HEUBT6TS

@  Gumeogmui®  30° B0 @B 2_6iTeHD
SHAUIBSHSIULTS — @afl  Gapfley  lodba
maUSSLILGSBSHI. BUICUTH SHIHULPNILILSHESL]
B Gumeogmui® euflwmsd OFedsvd  eefullesr
SallyLb
1) lo
2)lo/2
3)3lo/4

4) yghunb

wrider Carmemearuisd @rewi® Lenayser 1 @ 25
oI QP HHH 60 HIHEVRIBN6TDH ©O\HT 6T (H6ITerT6n.
GDBISSEH  agaGHFH  SIFHSULFD  LOBEBID
GophsLLF OFmlalet aldHb, Imax / Imin

1)4/9

2)9/4

3)121/49

4)49/121

@6lbleuT(h Llemey STIewIOTES HenJuled o eitern
galgio YDSE @60 lo ou@b. SienevsendE)
BenL Guievrer uTend Caumur® A / 4. Henyuled @b
yeitefuiled QFpsleneud &eumrLpsb.

1) lo

2) 2lo
3) 3o
4) 4o
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NEET MACRO TEST 9 (27.12.2024) 20x4=80 MARKS
Botany: Organisms & Populations, Ecosystem, Biodiversity & conservation

Zoology: Human physiology

Chemistry: Aldehydes Ketones & Carboxylic Acids, Amines

Physics: Ray Optics & Optical Instruments, Wave Optics

Solution
01. Answer: (1) 32. Answer: (2)
8% ﬁnsweri (2]-_) TN\ 050 Ozonolysis H3C\

. Answer: (4) LC3=CH—CH; ————* C=0
04. Answer: (1) H;C H: C
05. Answer: (2) 2-Methyl-2-butene Atiﬁﬂc
06. Answer: (3) .

CH,CHO
07. Answer: (3) Acctgldchydc
08. Answer: (2)
gg ﬁnswerf (i) 33. Answer: (2)

- Answer: (1) Benzene reacts with carbon monoxide and HCI
11. Answer: (2) in presence of anhy. AICl:s is known as
12. Answer: (4) Gatterman-Koch reaction.

13. Answer: (2)
14. Answer: (2) 34. Answer: (1)
15. Answer: (4) a) CH;CH=CH, __vswsmr - CH;CH,CH,OH
16. Answer: (4) #)H0,
17. Answer: (1) j—:’;—‘u—-a CH3CH,CHO (B)
18. Answer: (4)
19. Answer: (4) b)CH;CH=CH, — 0% _, CH;CH(OH)CH
20. Answer: (4)
21. Answer: (4) rmtpl:LU > CH;COCH (D)
22. Answer: (4) Aldehydes and ketones are functional isomers of
23. Answer: (2) each other.
24. Answer: (2)
25. Answer: (2) 35. Answer: (1)
26. Answer: (3) Formaldehyde (HCHO) is used to preserve
27. Answer: (4) biological specimens as formalin (40% HCHO)
28. Answer: (3)
29. Answer: (1) 36. Answer: (1)
30. Answer: (2) Both (A) and (R) are correct and (R) is correct
explanation of (A)
31. Answer: (1)
(IZHa (I? 37. Answer: (4)
dry ether - +

CHy=CH=C—~CH,~CH,-OH R-Mg-X + CO, —— RCOO Mg X

5 4 3 2 19 s RCOOH

1-hydroxy-4-methyl-3-pentanone

1
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38. Answer: (3)

CH,-CH,-CHj, COOK
©/ KMnO4 KOH ©/
COOH
E——

39. Answer: (2)

NH
3/2\1/ 2

Prop-2-en-1-amine

40. Answer: (1)
CH;-CH, -COOH -3 , CH; - CH, COO NH,"

O

—2&5 CH, - CH, -C—NH, 52 CH;-CH>NH,

41. Answer: (2)

\/ﬁ\ﬁ\H

N
S N~ NN

SO ¢

PR

42. Answer: (2)
Basic strength oc EDG o L
EWG

43. Answer: (4)

Aniline in polar medium gives 2, 4, 6-tribromo

aniline

44. Answer: (2)
Hydrogen bond formation

45. Answer: (1)
NH,

SO;H SO,

2
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46. Answer: (4)

) 2x10° 8
sinC= ===
2.25x10° 9

C =sin™ (ﬁJ
9

47. Answer: (2)

48.

=

20 cm

10 cm 30cm

For convex lens
u=-30cm,f=15cm,v="7

v 15 30 30
v=30cm

Distance of final image from concave lens
= 50cm.

Answer: (3)

Image formed by objective is at focus of
objective lens

For eyepiece

Ve=-25cm, f.=5c¢cm, u.=?
o1
£V ou
11 1
AT
5+ 1__1
25w,
25

€

u =——=-4.17 cm
6

L=60+4.17=64.17

49. Answer: (3)

For erect image by mirror, the magnification
should be positive i.e. possible if object or image,
any one should be virtual.
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50. Answer: (4) 55. Answer: (2)

If SP, = SP, =2f Diffraction is exhibited by all types of waves.

Then d = 4f

M 56. Answer: (3)
P, P,
; Width = 222 2%
a a

IfSP, = SP, = f

Then P,P, = 2f 57. Answer: (4)

d=2f When waves strikes at interface no phase change

and phase change of zero if reflection at rarer
medium.

o \ for transmitted wave and for reflected ray phase
P, M P, change of 7 radian if reflection at denser medium
1)//\1,

58. Answer: (2)

51. Answer: (3) After polarization intensity becomes 50% of
1 1.1 incidence.
VO uO fO
L+Lfl 59. Answer: (2)
v, 24 2 L _W _ TR L
11 1 _6-5 L W, 25 I 1
v, 2 24 12 T 2
_ 2 2
vo=12 cm (\/EJ”\/E) Il+l

__%[D __E{EJ__%
= u, L) 2405) (\F ﬁ) 11_2_1

L=vo+f.=12+5=17cm !

(541 _(6)
52. Answer: (3) “ls—1) la)

Use Snell’s law

|

Angle of incident becomes (90 - 6) 60. Answer: (2)

I = Lhax cos’ (EJ
A

A
=41, cos?| =.2 | =21
: [l 4) :

B
e sin (90 - 0) = g sin O

L cos B = o sin 90° (critical)

%525
/436

. B=cos {EJ
6

53. Answer: (4)
The power of the lens

cos@-

54. Answer: (3)
In YDSE both interference and diffraction
occurs.

3
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